MP PUMPS SERVICE PARTS LIST

® Self-Priming  ® Pumpak
® Close Coupled Electric Motor Drive

Flomax 10 2" x 2" Pipe Size
Flomax 15 3" x 3" Pipe Size

IMPORTANT: When ordering parts, specify model and serial number shown on nameplate.
N/S means "not shown" in exploded view of parts.

QUANTITY REQUIRED PER MODEL
CAST IRON ALUMINUM BRONZE
VIEE | PRI, BESCRPHON FLOMAX 10-2" 21366 21421 21364 21365
FLOMAX 15-3" 21384 21428 21382 21383
HOUSING
24304 Housing Assembly - Cast Iron - Inc: 1 1
2 22351 Housing - Cast Iron 1 1
3 21261 Stud - S.S. - 3/8” 14 14
6 - Housing to Adaptor
8 - Inlet and Outlet
25 21267 Drain Plug - S.S. - 1/4” NPT 1 1
24302 Housing Assembly — Aluminum - Inc: 1
2 22349 Housing — Aluminum 1
3 21261 Stud - S.S. - 3/8” 14
6 - Housing to Adaptor
8 - Inlet and Outlet
25 21267 Drain Plug - 1/4” NPT 1
24303 Housing Assembly - Bronze - Inc: 1
2 22380 Housing - Bronze 1
3 21721 Stud - 3/8” - B 14
6 - Housing fo Adaptor
8 - Inlet and Outlet
25 21186 Drain Plug - S.S. - 1/4” NPT 1
4 21291 Cap Screw - 3/8” 8 8 8
31 21268 Hex Nut - 8.5, — 3/8” 14 14 14
6 - Adaptor to Housing
4 - Inlet Flange
4 - Outlet Flange
31 21230 Hex Nut - Bronze - 3/8” 14
26 21266 Lockwasher - S.S. - 3/8” 14 14 14
6 - Adaptor fo Housing
4 - Inlet Flange
4 - Outlet Flange
26 26051 Lockwasher - Bronze — 3/8" 14
15 23040 Flapper Assembly 1 1 1 1
23 22240 Gasket - Housing to Adaptor 4 4 4 4
24 22358 Gasket - Outlet Flange 1 1 ] 1

ST s Semee EEm S o e prn S e e

g SRS =

e, e B M =P SN N






